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Exercise 1.11a

Σ
i=1

N-2
Fi = FN - 2

2

Prove:

Where:

F0 = 1
F1 = 1
Fk+1 = Fk + Fk-1

Fibonacci  
number

N ≥ 2



Exercise 2.1

3

Order the following functions by growth rate:
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Which functions grow at the same rate?



2.2) True or False
T1(N) = O(f(N)) T2(N) = O(f(N))

A. T1(N) + T2(N) = O(f(N))

B. T1(N) - T2(N) = o(f(N))

C. T1(N) / T2(N) = O(1)

D. T1(N) = O(T2(N))



Exercise 2.10
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Exercise 2.10

x1 +

=

xN 

y1yN 

…

…

z1zN …zN+1 

Find the running time for adding two N-digit integers: 



Exercise 2.10

x1 ×

=

xN 

y1yN 

…

…

Find the running time for multiplying two N-digit integers: 

z1zN …z2N …



Exercise 2.15

A0 A1 … Ai … AN-2 AN-1

A0 <  A1 <  … <  AN-2 <  AN-1 

Given an integer array A

Such that

Is there index i, such that Ai = i  


